Exhibit 14

Community Coverage

The attached map shows the 60 dBu contour of the proposed station and the
census 2000 city boundaries. Polygons are drawn for the inside and outside areas. For
over 50% of the area and over 50% of the population to be inside the city, the inside
needs to be greater than the outside in both cases.
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Polygon Population Report
Population Database: 2000 US Census (SF1)
Total Population: 5,840

Housing Units: 2,425
Polygon Area: 11.43 sq. km
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Polygon Population Report

Population Database: 2000 US Census (SF1)
Total Population: 1,623

Housing Units: 572
Polygon Area: 7.6 sq- km

Summary:
Population:  Inside (5840) > Outside (1623)
Area: Inside(11.43 km?) > Outside (7.6 km?)

The 50% condition is amply satisfied.



